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We derive from Rabi Yosi; A man may say to his minor daughter,
‘go out and receive your Kidushin’

Overview

777 9272 °01 "2 ruled that 7> can take place only if the fnX still ‘owes’ her
master work that i1s worth at least a v MW, otherwise T¥° cannot take place.1
X127 in the name of nm1 27 inferred from this ruling of °"972 °"9 (assuming that he
maintains M1 PWITPY W2 NNMWRIT Nwn)’ that a father may say to his minor
daughter, ‘go and receive your 1w17p’.° Our mooin discusses how X271 derived it

from >"92>"1.

nooIN asks:
- UAPNN XY 119 ROIW )IINUNY NON SNND 110N

It is astounding! What is 1"7 71X X271 coming to teach us; why should she not

become nwTpn, for -
- (1 am 999919 2298 151 NYUNHPN NN 1Y SN WTPNM 231999 N I1 N 191 199N

Even if he would say to someone, ‘give to so and so a /1% and my daughter
shall be nwTp» to you’, the rule would be that she would be nw7ip», based on

the law of a ‘guarantor; as we learnt previously; this is true even if the father did not

ask that the money be given to his daughter -
- ynab 49NY J9v Y5

! For YITP to be effective it is necessary for the groom (in this case the master) to give his bride (in this case the
7nX) something which is worth at least a 71179, therefore if the 71X still owes her master a 70175 worth of work and
he releases her from this obligation, it is as if she received a 7v179 from her master (husband).

* If the initial money was given by the master to the father with the intent of (eventually being used for) 7w17p, then
he would be able to be 7v>°1 her even if she owes him no more work, for the owner already paid the 1"t17» money to
the father (who is the one who accepts the 1w17°p for his minor daughter)

? The analogy (seemingly) is that just as by an 7, she becomes nwTp» (or NTva) with the money of her work due
to the master, even though she is a 710 and she has no mind of her own, nevertheless it is considered as if the father
told the daughter that that if the opportunity arrives you may accept 1217 from the master. The same applies to any
case where the father says to his daughter, ‘go and accept your 1"t17°p’; she becomes nwTpn.

* It seems that Mmoo assumed (in his question) that we are discussing a case where the father spoke to the prospective
husband that he should be w7pn his daughter by giving her the money, instead of to the father. We derive this from
°"92 "7 where the Ty is effective even though the father did not receive any money. See (78:) X"wmn.

> An 27w (a guarantor for a loan) becomes obligated to repay the loan if the borrower defaults, because the 27w
obligated himself based on the fact that the lender is giving money at his request. Similarly if one gave money to
someone else on the say so of the father, the daughter becomes nwTpn because the father (who is the one who
accepts 7"W17°p on behalf of his minor daughter) obligates himself to give his minor daughter for 1217’ based on the
fact that the groom gave money at his request.

® Why should the daughter receiving the money be any less nwTpn than when a stranger receives the money where
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How much more so when he says to give it directly to his daughter!

mdoIN anticipates an answer to his question:
- 7\’)‘1‘,7)37 4357 N7 NNT MY 17 72OU R NINT NN )

And if you will say; that here the rule of ‘n29y (guarantor)’ is not applicable,
for he did not speak to the w7p» (the prospective husband) to give money to his daughter —

Mmoo negates this answer:
= 939NN NVINVI NYNPNT 9INRT NTINY %293 Y0 *29Y 15 DN

If indeed this is so (that the father did not speak to the w7pn), so according to °''9
''12 who says that the X is nwTp» with the last 711195 of work that she owes him -
- SnUpn XAN UTPNRY X9 DAY XY B9 9N XY ONT N0 9993 ION
Can we then derive from this ruling of >"92 >"9, that if he said nothing, neither
to the daughter nor to the wpn, she should also be nwTipn?!
- 1y9a YYIPNN NAY NYAN 99N ITIND NAIVN NY9910N TIN5 Y NOHN
Rather perforce we must conclude that the selling of his daughter by her father is
considered as if the father told his daughter, ‘become nwTip% through 71w’ -
- YY1 IR 19N 2WNN 33 1999190 19 ON
Therefore the sale should also be considered as if he told the wTP», her master,
that he can be w7pn her through 7y, therefore we can only derive that she is nwTp» in the case

of w7p *923p1 KX only if he spoke to the wpn (similar to the case of 7w where it is implicitly
understood that it is considered as if he spoke to the master), but not in a case where he did not

she is 2% 72 nwpn?!! See footnote # 4.

7 moon is questioning his previous assumption (see footnote # 4) that the father spoke to the wpn. If the father did
not speak to the w7pn, obviously the concept of N2y cannot apply, therefore we need to derive this rule from the
teaching of >"72 "1 (see footnote # 3).

¥ In the case of *"12 >" the father did not (explicitly) tell neither the master nor his daughter that they should marry,
and nevertheless the 713 is effective, can we then conclude that when someone is w7pn a minor girl (without the
father’s consent) that she is nwTpPn; obviously this cannot be, for a minor daughter cannot be nwTpn only through
her father!

 However in a case where the father did not give (an implicit) consent she cannot become nwTpPx.

' In summation; we need to assume in the case of 7nX (according to °"12 ") that it is considered as if the father
(implicitly) gave permission to his daughter to be Pw 1P 93pn from the master; otherwise how is it possible that a
71vp who is under the authority of her father can become nwmpn without his consent. We should therefore conclude
that just as it is assumed that the father ‘spoke’ to the daughter (because the father knew that by selling her for an
7R, the master has a right to be 7> her and the father gave an implicit consent), similarly we can also understand
that when the father sold her to the master, he implicitly told the master that he can be 7v>» his daughter. Therefore
the case of T3 is considered as if the father spoke to the master and the daughter. Any case which we wish to derive
from 73 must be similar in that the father spoke to the groom and the daughter; in that case we have no need to
derive anything from °"92 "9 since she is certainly 27v P71 nwmpn. If one wishes to argue that by 7w it is not
considered as if he spoke to both of them (and nevertheless she is nwmpn), we should then be able to derive from
713 that when a stranger is W77 a minor girl she is NwTpn, and that is definitely not true!
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speak to the w7pn (and if he did speak to the wpn it is obvious that she is nwmpn (without "9
v"92) for it is not any less than the case of 27V as mentioned earlier.

NIDDIN answers:
- a5 93I89 XYY 19 90IND NY 91 K97 9199 W

And one can say, that by selling her it is not considered, either as if he spoke to

him, or as if he spoke to her -
- Zpwytsn 5anh 45 0 W 1IVP TN YY 199N 991 NYN

Rather this is how 1"7 71X X217 proves this rule; perforce a 1wp has a ‘hand’ to

receive her Pw7p -
= 8Y 21 DY TYINY NN TINRT 7Y 22) JNIYNRTIN

Since we find regarding 7¥° that the ‘Merciful one’ said she should be T¥*n»

by herself, that proves the generally a mvp has a 7 to be PL17T°p H3pn -
= PI8Y 21 DY NYTN VIPHND MY NY 1MIvD XnYya DIwin NN XY ONY

For if it would not be effective elsewhere, when the father gives her permission

to be become nwP» consensually by herself -
- Bayys 19395 95993 150°W 209N MIN 1Y Y

The 7790 would not have said that her acceptance should be effective regarding
.

nooIN asks:
= PYVYTP ’52‘,71 INY 1Y 99N NYIPHN NN IND 9NN ON)

And if you will say; how is she nw7i»» when her father says to her, “7apy 'xx
TR -

- (8,20 97) NI N22T NP P99 ¥AUNTI ANNN 1 1538 7Y 1799 )07 XYM
For a minor has no mode of acquisition 77910:7 32, as it seems in the first P95 of

n''3 noon -
- Yangya maty 1 1Y PN NIvpT

That a /mwp has no ‘hand’ to acquire by herself -

" The reason T is effective is because the 770 ruled it so. It has nothing to do with Y2 X3 or 72 9mX2. The
question however is how can we derive the rule of 7w TP *23p1 XY from T3, perhaps 7w is a 21137 N7 722 MOOIN
explains.

12 Nonetheless, even though a m1vp has a PY17R 3P 7, since she is "2 Mw2 she cannot utilize this 7> unless her
father consents by saying 7w 7P *22p1 °R¥. See “Thinking it over’ # 3.

" The argument of 1"1 9»X X271 may be that we try to ‘rationalize’ a 230377 N1 that it should not be so ‘outlandish’;
therefore they assume that a 71vp has a 7, and normally she requires her father’s permission to utilize the 7> (see
footnote # 12), however by 713 the 770 decreed that she needs no one’s permission to utilize her 7°. See ‘Thinking it
over’ # 1.

1 See 199> 3"7 X,X° "2 Moo where N1ON rules that a 73/7vp cannot be 77107 12 77,
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- D127 RYN 9902 513 92 PR Y09 299 P10PH NNIYMT 1399IN)
And we also say ' that (even) according to o1 ' there is no actual stealing of
a child’s findings; it is only prohibited J3397% —

mooIn responds to an anticipated difficulty:17
- Uity mayw n9nm KON IPRY FANYA A9tV NI 197 DNAT N %) NpYwa

Regarding 7 it is understood, for there it is justifiable that she acquires the
remainder of her work as her U17p payment, since it is merely only the

forgiving of an obligation, however by ‘regular P17 where the woman needs to acquire
the money from her groom, how is that possible since a 7> 7% "X mwp?!

NDDIN answers:
- ON:NINTID 1999T 1Y W 1Y NIPN NINN NYTAT I U

And one can say; that when another ‘mind’ (in this case the groom) grants her

Something (the 7YY T7°P 102) she has RNYINTA 779957 -
-—91NT RTON 399 79997 (x,n0 poon [ 0INN] 9993 YW1
As it seems from the X713 in [928:7] 299, where the X713 challenges X701 29 who
maintains (on 2,70) -
- 20yanrY N9t 199N 1M8YY Pnnp At ARy At nx
Whether this type of a jup or whether the other type of jup, the v can acquire

for himself, but cannot acquire on behalf of others; the x 3 challenges this ruling of
n" -

15 Others amend this to read 17 12°9x 107 (instead of *279 Tup:).

' The xm3 there (X,2°) cites a 71wn which states, 213 K 01 271 212w 377 *107 213 DWN 172 W JUPY AW WIN DR
7173, And X701 21 explained that *01 " meant 2:7°727% T3 21

7 We have previously assumed that a 71vp has a PwYP 22p2 7 from 7w, how can we differentiate between T3> and
TR?

'8 The n" 21 N amends this to read YWwRw A1wa 791w (instead of 1R AXw3A 7210w). See footnote # 1.

' The X owes her master work (worth at least a 770119); she is “in possession’ of that work (she has the capacity to
do it); the master merely releases her from that obligation, she is now freed from doing the work, so she gained a
v value of work, but she did not need to acquire anything, it is merely that she is released from an obligation.
This is usually expressed as PP 77X PR 72°1n, because nothing is transferred from one to another; it is merely
relinquished.

2 The rule of 70P% 7°31 PR is when no one is transferring the item to the jup (he is acquiring it from po7 [like a
x°xn]), however when someone is giving something to a 19 and the jup (merely) has to receive it, there is 727
Xn»x7A for a i/jup. See ‘Thinking it over’ # 4.

2! The n"a7 M7 amends this to read 7°197 22pn7 P92 ((instead of 197 AMINRT PI92).

> The xm3 there is discussing various stages of maturity by a Jup (when he distinguishes between the value of a
pebble or a nut, or when he is more mature to return an object after borrowing it, w"»¥).

2 In out text there (2,70) it reads 7277 (instead of 7np).

** This means if someone gives an object to a Jup that the Jup should acquire the object on behalf of a third person
(that the third person should own it), this transaction is not effective and no transfer took place.
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- ©99290 INNAW 172YY DTN MINT PO AN
From that mwn which states, that ‘a man may say to his Jewish slave or

maidservant
-—NYN P1IVP N¥93Y NNAWY Y TWIN 191 N1 199N MYN 790

Take these monies and redeem with them the 1 =wwn»’; This concludes the

mwn. However a Jewish nipw is a mwp, (for once she becomes a 77w [a 773] she
leaves her master). This contradicts the view of 11" that no Jup can be 2R 7107, and here we
see that the mvp IO is 2*INKRY 707 regarding the w"vn 175 -

:NNNN 1 BXINRY 199X N *n931n5 NEYY 1AW S99 713397 2193 199RY YI8YA SN

And the X ) there dismissed the question on 11"7 by saying that the 7Iwn is
discussing a non-perforated flower pot which is only obligated J2397% w"vn1; we
can infer that initially (before we answered that the mwn is discussing w"¥n
112777), that the X773 wanted to prove that a v can be 72 even for others
n''mn.

Summary
If a mwp would not have a 1w 7P 92p% 70 (when her father tells her >9271 °K¥

Tw17°R), the 770 would not have sanctioned the 7% process. A 7/jvp have 7721
Xn>>IRTA if there is a aMR 73P7 NINR NVT.

Thinking it over
1. moon writes that if a 71vP has no right to be PP %2pn, the 77N would not
allow T to be effective.”” However perhaps we can say that even though a mup

29" 1" 3w Wwvn.

26 s 9wyn needs to be eaten in o>w1. However if there is too much to bring, one may redeem it and bring the
money to 2°7w1 and spend it there (to buy food). If the owner redeems the w"y» he must add a fifth (a fourth) of the
value to the total; if the w"vn is worth four he must add one more to make it five. However if anyone else redeems
the w"vn, nothing needs to be added; it is redeemed at its market value. This person did not want to pay the extra
fifth, so he gave his slaves money that they should redeem it, for then he saves the fifth, since the slaves are not the
owners. The process of this redemption must be that the money belongs to the (minor) slave; otherwise it is
considered as if the owner is redeeming it. The slave when he redeems (or exchanges) the w"vyn nxX1an for money (the
money receives the status of w"vn, and the w"yn nX1an becomes 1°711) must have in mind that the w"v» nx1an will
belong to the master (for if the w"yn will belong to the slave and the money belongs to the slave he is redeeming his
own ¥"yn and will be required to pay the fifth). This proves that even a minor has the capacity to be o™ x> 734, for
the slave is transferring the w"v» nX1an which he redeemed to the master’s ownership. He is acquiring the redeemed
w"yn on behalf of his master. (See 1WwX" mwn' there).

*" However i1 is saying that Xn»%7» they have no 2nx> 7131, and will agree that 112777 they can be 2R 7911,
% 377 21 there argues with 1" and maintains that a Jup can also by 2K 71917; now that we concluded from the
mwn that 1312777 all agree that onR? 797 P (see footnote # 27), it is obvious that the np12nn between 1" >"1 is
whether a Jup is XN 0°NRY 7917, but M¥YH M1 all agree that he is Xn*R77 797 when there is a 7Ip» NANR NYT
NI
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has no 7> to be 1Pw17°p 22pn (because it requires a 1°3p), nevertheless T3 is effective,
as Mmoo writes later,” since it is only a Xn5¥2 Tayw n>mn. and not a PIp?! [Or
(the flip side) how can we derive Tw17°p ©92P1 °RX 1127 O7X MR from °"12 "9, since
by 7 it is only a 72°1 and by "1 °K¥, we require a proper P1p?!]*

2. Can we say that there are two separate issues; whether a 7lvp has a 7° to be 22p»
7R, and a second issue whether a 7/30 can be Rn»IX7A 70177

3. Are we to understand that a 7vp intrinsically has a 7 to be W TP 2apn
(therefore Ty is effective), however she cannot exercise that right (since she is
AR mMwn3) unless the father consents (by saying X¥) or by Tw,** or are we to
understand that a m1vp basically has no w17°p 22p% 7, unless her father consents by
saying "X, so he gives her over his 7> (and something similar happens by T15°)?

4. In the case where an item is being transferred from one party to the other
(whether through a sale or a gift), who is doing the major share of this
transference; " is it the seller (grantor) who is being :3pn, or the buyer (recipient)
who is being mp?™

¥ See (text by) footnote # 13.

0 See (text by) footnote # 19.

31 See qor nmxy.

32 See footnote # 12

33 See mwp 7MRIYY 1"72 Twn nbm.
3 See footnote # 20.

3% See ny727 783 7"72 WA N
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